U6D10 Review Activity.notebook December 12, 2018

Given the parent function and a description of the transformation, write the equation of the
transformed function, f(x).

1. linear = vertical stretch of 4, left 5 and down 2

£(x) = 4(x+5)-2
2. cubic 3 reads, left 1, and up 2
£0x) = (& \)347»)
3. square root < vertical compression of £, right 3, and up 4
T)=z2{x3+4
4, quadratic = ryas, vertical stretch of 2, left 3, and down 1

f(x)=2(%+3) -1

Nov 28-12:24 PM

Dec 12-12:58 PM
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Give the name of the parent function and describe the transformation (read left to right)

5. h(x)=4+x-5 6. gx)=2|x-3]+1
Parent: ’P(X)= J X Parent: ’P(X) = 'l X l
Transformation(s): Transformation(s):

verfical stretch 4 vertical stretch 2
right 3 right 3
up |

Nov 28-12:24 PM

7. Given the mapping diagram:
a. write members of the domain and range and connect them with arrows o that f is
a function and 1 is not a function.
b. write members of the domain and range so that f is not a function and f1is a

function. exa W\P,es

—

= =

Nov 28-12:24 PM
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8. On the accompanying graph, draw a function that has the following properties:

a. Domain: [-4,29] T

b. Range: [-o, 4] :

¢. y-intercept: (0.1) POSS(b,C’/

d asx=>ce, y 3 -0 OJ\SWGP \ %

27X
\
\
|
Nov 28-12:25 PM
9. Given f(x) = 2x - 3 and g(x) = -x + 4, perform the operation or composition. State

domain restrictions if they exist.

o fgbn=+FC X+4) b, foamgt= (2X=3) X+4)
=26x+4)- 3 S S OXUEXABX-12
=-7X+8-3 == DXCHIX=12Z

%@(\(): -ZX'\'S ( ()()

d | %(x}]= gx

e g-f= CXH)-(2X-3> L £
:-X‘”*F?X"‘?) _ —X-\-“I- X:‘: 3
- —3)«4——-] 2X"3 2

Nov 28-12:25 PM
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* There are 7 rounds PDeview Lace

* You may divide the questions in any way you wish

* Answers go on answer sheet

Raise your hand when done

Everyone must participate in every round -
if you don't "play" - you don't win a prize
* 1st done - 3 points, 2nd - 2, 3rd - 1

(with correct answers of course)

* Submit 3 wrong answers in a round? You are disqualified for that round!

Feb 24-8:01 AM

Functions f, g, and h are given below. KPO und l y
f(x)= x* =

$(0)=0 ‘F (X) 7 x
g(x) = f(x) + 1 odd

YF(0)= O+ y
1. Find h(2) ==20 g (¥ =
even X

2. Find g(f(0)) = | neither

3. Which statement is true about functions f, g, & h?
(hint: look at graphs for £ & g on your calculator)
a. f(x)and g(x) are odd, h(x) is even
b. fi(x)and g(x) are even, h(x) is odd
T(x) is odd, g(x) is neither, h(x) is even
d. f(x)is even, g(x) is neither, h(x) is odd

4. Write an equation for k(x), the transformation of k(x\)= (X_2>3_'- 3
6))1‘():) translated right 2 and up 3
\

X
o> (FromGrovp work)
5. Find the domain and range for h(x) '—D . (_ Co, oo>

K‘-'R‘ [’20/00>

(@) from review sheet:
eaws PL k(x):‘x%"'l

Dec 1-10:07 AM
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Given the function f(x) = (x - 3)° +1,

L find flx). Y= (g—j)a-f—l
X~ = /q—3)3f

2. what is the parent function and what
32 .
PX)= X" = cubic

right 3
upl

transformation has occurred to produce f(x)?

37T “Round 7

gr AX-1 +3

£7)= 3x-1+3

Dec 1-10:

08 AM

=t

M

. Which of the graphs are 1 -1 functions?

D

. Which of the gr"aphs are even?

Lad

4, Which of the graphs are odd?

C,e,D

. What is the domain and range for graph D?

)]

A B T T C II
(] y E \ ] P
H \ .f'/
—
/__.I' \
s N,

Which of the above graphs are not functions?

“Round 3

D [-0]
RS

Dec 1-10:08 AM
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Given:

f(x)=x2-2x,g(x)= ¥x+1 andk(x)=x-2

“Round ¥

;:;Pichheife;?;:ulluwing(STﬂTe any FesTchTiuns@ _F(nﬂ): (n+ ))2_ 2{[)1—/)
L fmen=N"—| = N#In+1—2n-2
2. g(f(4) = 3 =)
3. flg) =X | =241 @ Q(“:M) =

o X2 )= 4 2(4)- ?
o fo= X, x42 ol5)=JET3
5. (F 100 = X =X~ 2 @.F(g x)) (-\({X-P—I>
6. (F-k= X o= 3X+2 W) T

® L3- XX-2)_ < Xt 1= 2N

B £K+kx)= >< 2X+X-2

= X=x-2
@ £(X) -k(x) = X*=2X=%X=+2
= X% 3X+2

Dec 1-10:08 AM

2. Draw a function that is odd

4, Draw a function that iz r1|:|T 1-
osses Verical nov horizontal
B. Draw a relation that is not a function but has an
inverse that is a function.

foils vertical passes horizontal

1. Draw a function that is even
any 9rTap;\ ;ymmemml wrt x-axis  “Round 5
onygraph +hat [ooks +he same vpside down

" ny graph that | passes vertical & horizontal lne-esis

Dec 1-10:08 AM
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For each ot The Tollowing,

a. State the type of trouble.

b. Find the domainalgebraically.

c. Sketch the graph.

d. Use the graph to find the range.

%) _L 2)("', ;
' Vel IXIX>- '} R 2’9)9>0} ,
2.9(x)=x¢+1 NoOTrovble D: ?x\xems

yly=13
3 h(x)=v2x+1 \ar Uhderf

2X+1>0
L D XER Rz
4. 69-—— | “',&
var in denominator A

Y
’])O()b’e —WOUble 'I'L» > x

2X+ )L(L:% *\v

D fxld-2 R:1Yly#e3

Q\-
e

Dec 1-10:08 AM

Find the inverse algebraically and graphically. /R
ound 7

- X+2 HORMAL FLOAT AUTO REAL RADIAN MP
£y =X

f(x)= 3x - 2 G—T&phi(&”g l

)(?3 _2 (X)é XI-1 & | 2

39=><%z ' VIrs-2 T 3
_ x+2 X x|-5-2 1 ¢

JT = 0= Yi-1 o 1 2

Dec 1-10:09 AM
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One free multiple

o
choice answer on Prlzes

You may ask one

yes/no question on

tomorrow's test

tomorrow's test

You will receive
3 bonus points on

tomorrow's test

Feb 24-8:07 AM

Dec 1-10:06 AM
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